Pre-Class Problems 1 for Monday, January 22
These are the type of problems that you will be working on in class.
You can go to the solution for each problem by clicking on the problem letter or problem number.

1.
Solve the following equations.
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2.
Solve the following equations.
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h.    
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i.    
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j.    
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3.
Solve 
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4.
Write each expression in terms of i and simplify.
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5.
Determine the real part and the imaginary part of the following complex numbers.


a.   
[image: image24.wmf]i

8

5

-



b.   
[image: image25.wmf]7

4

-

i



c.   
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Additional problems available in the textbook:  Page 92 … 43 – 102 and Examples 1, 2, 5 - 9 starting on page 83.  Page 111 … 5 – 28 and Examples 1 and 2 starting on page 104.
Solutions:
1a.
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Back to Problem 1.

LCD(4, 2, 6)  =  12
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Answer:   
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Back to Problem 1.

NOTE:  
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LCD(100, 10)  =  100


[image: image35.wmf]Þ

-

=

-

Þ

-

=

-

100

)

5

.

0

75

.

0

(

)

6

15

.

0

(

100

5

.

0

75

.

0

6

15

.

0

y

y

y

y




[image: image36.wmf]13

135

65

675

675

65

50

75

600

15

=

=

Þ

=

Þ

-

=

-

y

y

y

y



Answer:   
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Back to Problem 2.


NOTE:  
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LCD(4, 2t, t)  =  4t
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Answer:   26   or   the set of solutions is {26}
2b.
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Back to Problem 2.

NOTE:  
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LCD(5w, 3, 3w, 15)  =  15w
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Answer:   
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   or   the set of solutions is 
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Back to Problem 2.

NOTE:  
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LCD(6x, 3x, 12)  =  12x
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Answer:   
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   or   the set of solutions is {2}
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Back to Problem 2.

NOTE:  
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LCD(y – 3, 8)  =  
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This equation does not have a solution because 
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Answer:   No solution, or the set of solutions is the empty set.
2e.
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Back to Problem 2.

Since 
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LCD
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Answer:   
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Back to Problem 2.

Since 
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Answer:   
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   or   the set of solutions is
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Back to Problem 2.


Since 
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Answer:   
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Back to Problem 2.


Since 
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This equation does not have a solution because 
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Answer:   No solution, or the set of solutions is the empty set.
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Back to Problem 2.


Since 
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NOTE:  
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LCD
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Answer:   
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Back to Problem 2.

NOTE:  
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NOTE:  We could have obtained the equation 
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Answer:   
[image: image130.wmf]25

19

=

x

   or   the set of solutions is
[image: image131.wmf]þ

ý

ü

î

í

ì

25

19


2k.

[image: image132.wmf]5

8

8

4

3

3

-

=

+

t

t







Back to Problem 2.

NOTE:  
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Cross multiplying, we obtain 
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This is a false equation.  Thus, the given equation does not have a solution.


Answer:   No solution, or the set of solutions is the empty set.

3.
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Answer:  
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Back to Problem 3.
4a.
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Answer:  
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Back to Problem 4.
4b.
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Answer:  
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Back to Problem 4.
4c.
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Answer:  
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Back to Problem 4.
4d.
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Answer:  
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Back to Problem 4.
4e.
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Answer:  
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Back to Problem 4.
4f.
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Answer:  
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Back to Problem 4.
4g.
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Answer:  5







Back to Problem 4.
4h.
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Answer:  
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Back to Problem 4.
5a.
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Back to Problem 5.


Answer:
Real part:  5

Imaginary part:  
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5b.
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Back to Problem 5.


Answer:
Real part:  
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Imaginary part:  4

5c.

[image: image161.wmf]i

2

1

3

2

+

-









Back to Problem 5.


Answer:
Real part:  
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Imaginary part:  
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Back to Problem 5.


Answer:
Real part:  9

Imaginary part:  0

5e.

[image: image164.wmf]i

11

-










Back to Problem 5.


Answer:
Real part:  0

Imaginary part:  
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